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QUESTION 1

The UD Connect extraction of document level data from a SQL Server database results in a loss of document detail in
BW. What possible action could you take to resolve this? Select the correct answer.

A. Use a generic DataSource with a numeric pointer for the delta service.
B. Use a DataSource based on SAP Data Services to restore the detail.
C. Use a DSO for Real Time Data Acquisition.

D. Use a DB Connect based DataSource.

Correct Answer: D

QUESTION 2

Which of the following are true regarding an aggregate roll-up? (1)

A. It is needed every time new data is loaded into the InfoCube

B. It does not have any relationship to the availability of data for reporting in an aggregate
C. It compresses data into the E Table of the aggregate

D. It is the same thing as an attribute change run

Correct Answer: A

QUESTION 3

A BW 7.4 data flow has been working successfully for a while. Today the data flow resulted in an error after the
DataSource has been changed and reactivateD. What could be the possible problem? Select the correct answer.

A. The Transformation connecting the DataSource needs reactivation.

B. The PSA entries need to be reactivated.

C. The PSA entries should have been deleted prior to the DataSource reactivation.
D. The InfoProvider data should have been first deleted.

Correct Answer: A

QUESTION 4

You want postable nodes in a hierarchy to appear in multiple hierarchy branches. What action could you take to
accomplish this? (2)
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A. Enter the postable nodes as Link Nodes

B. Configure the hierarchy as time-dependent

C. Create multiple similar hierarchies

D. Configure the hierarchy with a time-dependent structure

Correct Answer: D

QUESTION 5

What is necessary for a VirtualProvider to display data? There are 3 correct answers.
A. A DTP for Direct Access

B. A DataSource for Direct Access

C. HybridProvider

D. MultiProvider

E. DTP that loads data

F. Transformation

Correct Answer: ABF
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